9stufige Grauskalierung zwischerL* gn=3.6 undL*gaw=95.9, Yore=20.0, Normierung GrauU
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L*0ane3.6,L*0am49.8,L%0an=96.0, Yoan=0.4, Yoam18.2, Yoaw=90.0, Coay=Yoaw Yoan=225.0
L*tan=37.4,L*1au=49.8,L*1aw=77.6, Ytan=9.7, Ytau=18.2, Y1an~52.5,Cray=Yaw: Ytan=5.4
Regularitatsindex nach ISO/IEC 15775:2022, Anhan
g* = 100 PL* min] / [AL* max], L* cieLag = 116 [Y/Yq]V/
9%= 24, g*y= 16

16 mitY >=0,882,Y,=100
g%= 93, g%5= 86

linearisierte Ausgal
11.68 | Ma AlL*la

4.8

5.0

5.1

5.2

5.2

5.0

4.5

5.2

egq31-3n



